2 3 I 4 5 | 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
BOM LIST A |[NEW RELEASE LJH 08/13/05 Y LJC 08/13/05’
ITEM | PART NAME Qty NOTES C [ semuyipmigingse i YCH 07/18/08’ L LJC 07/18/08’
PR E— 1 PLASTIC HOOD 2 | SEE P/N D |sihn 4t km YCH 05/20/10’ L LJC 05/20/10’
- ] 0 , [21] tone BouT 2 | #4-40 E [wss12iiz4r 3«10 | YCH 08/30/10° Y LJC 08/30/10°
" ‘ n 2.2| SHORT BOLT 2 #4—-40 F |ADD P/N CODE LJIC 12/24/13’ s LIC 12/24/13
— 3 NUT 2 | M3 J | DRAWING UPDATE JLZ 05/19/16' ~
4 LONG SCREW 2 M3
NOTES:
24.99 5 SMALL WASHER 2 1. Hardwares are all Nickel plated.
6 SHORT SCREW 2 M3 2. PART NUMBER CODE:
7 METAL WASHER 2 M3 DS1045 — 09 X X X X X — XL
30.8 Hood Materials ®
: A: ABS
12.0 B: Similar ABS
1 Washer type
‘ [ 1: Metal
1 ! ] Bolt type
J L: Long
‘ S: Short
Packing type
‘ ® 1: Mix packing
‘ © “’. Q: Full packing
| ol B
‘ H — — Cover Material
[ ! P: Plastic(ABS)
- |- - - @ — E N 7 B Cover Color
‘ N | —N A: Gray
I ‘ ‘ B: Black
H H V: lvory
t\lilj__y Position
/ hEIﬁ 2 09: 9pin
‘ SHORT SCREW Q—\ .
O v L8 M3 3
) UNCH#4—40
2 AN
70 4-40 UNC Tt -
0 5.40
‘ | Short BOLT
—1 1 NUT  t=2.3mm
T © | —&— 3
6.6 | 11.8 4 o 480
i i 0oV &7 ‘
; > 44 s 1
N7 } %é, g
]
Long BOLT LONG SCREW
SMALL WASHER
GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECTION @»—ﬂ TITLE | D-SUB Plastic Hood 180°
X.  +0.60 x. &5 [UNOS mm 9 Positions
X +0.38 X +3 SHEET SIZE A4 SERIES | DS1045 SERIES
XX +0.25 XX +2° =
DRAWING TYPE [COSTOMER = ﬁj}] EE % ﬁ IKE /L\\ ﬁ
SCALE 11 _SHEET |1 OF 1 °© CONNFLY ELECTRONIC CO., LTD
DRAWING NO. |C—DS1045—09XXXXX—x—J| COANFLY "

4 |

5

6

I 7

| 8




2 3 | 4 5 | 6 | I 8
BOM LIST REV. DESCRIPTION DRAWN CHECKED APPROVED
: A | NEW RELEASE LJH 05/18/05' ~ LJC 05/18/05’
ITEM | PART NAME Qty NOTES C | e ] YCH 07/18,/08 P~ LIC 07/18,/08
e L PLASTIC HOOD | 2 | SEE P/N D | s etk YCH 05/20/10’ ~ LIC 05/20/10°
h;'j “_m_“ l_,(_\d o |21] LONG BOLT 2 #4-40 E |ADD P/N CODE LIC 12/24/13 ~ LIC 12/24/13
| 2.2| SHORT BOLT 2 #4—-40 J | DRAWING UPDATE JLZ 05/19/16’ ~—
’ 33.32 3 NUT 2 M3 NOTES:
| 39.2 s Juonosorew [ 2 [ws } portnen e ol ekl st
5 SMALL WASHER 2 DS1045 — 15 X X X X X — ><L
6 SHORT SCREW 2 M3 Hood Materials ®
7 METAL WASHER 2 M3 B: Similar ABS
Washer type
1: Metal
1 Bolt type
: AN » e
) | \ | Packing type
1: Mix packing
/ Q: Full packing
conner L———c¢ Material
of - © 2 ® = Pt
To N 14.3 Cover Color
M YA 1.8 A: Gray
[ @‘%@ N UNCH4-40 B: Black
V: Ivory
] ‘——— Position
i%} 15: 15pin
y,
— Short BOLT
8.0
2
4—40 UNC
5
rﬂj m— \ é% LONG SCREW (
Y | T L S
< 5 ‘
—\ | ] 44 A :
| Long BOLT 9 _\ ‘ '
g a3 i
7 o — — l ;
O bt | |
7 ‘ I :
» | f SHORT SCREW SMALL WASHER
o M3 GENERAL TOLERANCE ANGLE TOLERANCE [PROJECTION | @--£F [TITLE] D-SUB Plastic Hood 180°
15 Positi
ﬁ@% - I X.  +0.60 X, %5 UNITS mm osttions
S 3 X +0.38 X +3 SHEET SIZE A4 SERIES | DS1045 SERIES
11.0 XX +0.25 XX 22 —
16.2 DRAWING TYPE |COSTOMER = 45;];] EE ? ﬁ I}E /ZA\ a
o SCALE L1_ISHEET |1 OF 1 o CONTNFLY ELECTRONIC CO., LTD
DRAWING NO. |C—DS1045—15XXXXX—X—J | CONNFLY "
' 2 3 4 | 5 6 I 7 I 8




4 5 | 6 | | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
BOM LIST A |NEW RELEASE LJH 10/26/05' ~ LJC 10/26/05’
ITEM PART NAME Q'ty NOTES C | #rmyefiig e R YCH 07/18/08’ ~ LJC 07/18/08
54.0 1 PLASTIC HOOD 2| SEE P/N D | #in” Axtuds s YCH 05/20/10’ ~ LJC 05/20/10°
4 o4 , [21] Lone soLT 2 | #4-40 E |ADD P/N CODE LIC 12/24/13’ ~ LIC 12/24/13
M. 5 ‘ 2.2| SHORT BOLT 2 #4-40 J | DRAWING UPDATE JLZ 06/19/16 ~
- 3 NUT 2 M3
w \ ‘ 4 LONG SCREW 2 | M3 NOTES: _
: 1. Hardwares are all Nickel plated.
-ﬂil'l: ' :I'Iﬂ 5 SMALL WASHER 2 2. PART NUMBER CODE:
DS1045 — 25 X X X X X = X
U : g, 6 SHORT SCREW 2 M3 TTTT T Hood Materials ®
\ 7 METAL WASHER 2 M3 2 ED} B Sior AgS
S 1.8 Washer type
N S UNC#4-40 1: Metal
8.0 N >
7t ’4":|7’ Bolt type
L: Lo
( ‘ S: Short
‘ P.ockl'mq (yp(le
i Short BOLT 5 Pl Py
i t————Cover Material
H : sti S
i 3 L G pemees
o 3 ] I V3 s,
¥ ‘ _ V: Ivory
' ————————Position
‘ - 25: 25pin
i | N
= . \ . NUT  t=2.3mm
C : y,
\ - &
40.8 5
4.8
4—40 UNC \ > ‘ [
| 1] \' ﬂl . E
I A
6.6 o B
44 3
Long BOLT 6
M3 c?’/'0
SHORT SCREW
GENERAL TOLERANCE ANGLE TOLERANCE [PROJECTION | @—F [TITLE] D-SUB Plastic Hood 180°
X. +0.60 X. 45 UNITS mm 25 Positions
X +0.38 X +3 SHEET SIZE A4 SERIES | DS1045 SERIES
XX +0.25 XX +2°
»
DRAWING TYPE |COSTOMER )1%' ﬁ]}] EE ? ﬁ I}E Z\ a
SCALE 1:1 |SHEET [1 OF 1 o I
DRAWING NO. I—DST045—25x000(=x—J| E€OnNNFLY® CONNFLY ELECTRONIC CO., LTD
1 2 3 4 | 5 6 I 7 I 8




1 2 4 5 I 6 I 7 I 8
BOM LIST REV. DESCRIPTION DRAWN CHECKED APPROVED
| A |NEW RELEASE LJH 10/26/05' ~ LJC 10/26/05’
TEM ;&ZTT‘CNALAEOD Q ZW — E‘TNES C | wmychimime ) YCH 07/18/08' ~ LJC 07/18/08'
LONG BOLT 2 | #4-0 D | Mhn"Arfude” RN YCH 05/20/10’ ~ LJC 05/20/10°
2 SHORT BOLT y #4-20 E |ADD P/N CODE LJC 12/24-/13: ~ LJIC 12/24/13
3 NUT 5 M3 J | DRAWING UPDATE JLZ 05/19/16 ~
4 LONG SCREW 2 M3 NOTES: i
1. Hardwares are all Nickel plated.
5 SMALL WASHER 2 2. PART NUMBER CODE:
DS1045 - 37 X X X X X = X
6 SHORT SCREW 2 M3 T Hood Materials ®
7 METAL WASHER 2 M3 oSS s
Washer type
1: Metal
Bolt type
2.8 2.70 L Lo
= 2 ® i posking
14.3 Q: Full packing
A/J 1.8 c Materiol
—— Cover ateria
/A e N (O [ O 5. -
— = B o
V: Ivory
———————Position
o o 37: 37pin
ok I J{* Short BOLT
3
M3
—
NUT t=2.3mm
12 05 LONG SCREW
4.8
SN
2 ) [
13.70 4-40 UNC = - l
1 \ ‘
=H ]
6.6 o )
44 : M3
Long BOLT N
SHORT SCREW
GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECTION @{} TITLE| D-SUB Plastic Hood 180°
X. +0.60 X. 45 UNITS mm 37 Positions
=) X +0.38 X 13 SHEET SIZE A4 SERIES | DS1045 SERIES
§HT§T”4 XX +0.25 XX +2°
DRAWING TYPE |COSTOMER )T?C fﬂ EE ? ﬁ IKE j
Meto! SCALE 1:1 [SHEET [1 OF 1 o co CTRONIGC co
DRAWING NO. [C—DS1045—37XXXXX—X—J| €ORAFLY NNFLY ELECTRONI -, LTD
1 2 4 | 5 6 I 7 I 8




11.10

4 5 l 6 l 7 l 8

REV. DESCRIPTION DRAWN CHECKED APPROVED

A | NEW RELEASE YCH 05/24/11 ~ LIC 05/24/11

B |ADD P/N CODE LIC  12/24/13 ~ LC 12/24/13

C | Arrange Drawing JLZ 10/09/14' ~ LIC 10/09/14
69.50 J | DRAWING UPDATE JLZ 05/19/16 ~
61.00

NOTES:

53.80

45.90

49.79

12.72
7’ &
& 1Y
+ <
BOM LIST
ITEM PART NAME Q’ty NOTES

1 PLASTIC HOOD 2 SEE P/N

2 BOLT 2 #4740

3 NUT 2 M3

4 M3*10 SCREW 2 M3

5 M3*12 SCREW 2 M3

6 BIG WASHER 2 M3

1.

Hardwares are all Nickel plated.
2. PART NUMBER CODE:

DS1045 — 50 X X X —

o

Hood Materials®
A: ABS
B: Similar ABS

Packing type
1: Mix packing

Cover Color
A: Gray
B: Black

Cover Material
P: Plastic(ABS)

Position
50: 50pin

3

M3

OF

NUT  t=2.3mm

4
J11.5
&7 o

LONG SCREW

6.0

%%@

LONG SCREW BIG WASHER
GENERAL TOLERANCE ANGLE TOLERANCE |PROJECTION | @ 3} [TITLE | R ———
X. +0.60 X. +5° UNITS mm 50 Positions
X +0.38 X +3 SHEET SIZE A4 SERIES | DS1045 SERIES
XX +0.25 XX +2°

DRAWING TYPE [CUSTOMER

SCALE 1:1

[SHEET [ 1 OF 1

DRAWING NO.

C—DS1045—-50XXX—X—-J

B F AR A

connFLy® CONNFLY ELECTRONIC CO., LTD

4 |

5 6

| 8




X-ON Electronics

Largest Supplier of Electrical and Electronic Components

Click to view similar products for D-Sub Standard Connectors category:
Click to view products by Connfly manufacturer:

Other Similar products are found below :

S56F711-015 LV242999-142T12 015-0339-000 015-0341-000 015-0349-000 015-0350-000 015-0372-008 015-8544-011 015-8755-001
017041-0005 020419-0104 012-0467-000 012-9507-114 020745-0008 609-25P 609-9P M?24308/2-23Z M?24308/2-36Z M?24308315F
CTOM22-23SS CTOP14S-5SXS CTOP22-14PS CT1E20-19SS CT2-10SL-3SC CT2-14S-2PCA34 CT2-16S-17PS CT2-18-10PS-FMLB-D
CT2-18-11PCAU CT2-18-1PSAUA34 CT2-22-19SC CT2-22-19SS-A206 CT2-24-2PS CT2-28-12SC CT2-28-12SSA232 CT6-10SL-3SC
CT6-10SL-4SC CT6-14S-2SC CT6-16-12SC CT6-18-10PSA206 CT6-18-10PSA232 CT6-18-10SSF127A206 CT6-22-10PS CT6-28-22SS
CT6E14S-2S0 CT6E14S-2SC-A206 CT6E14S-5SC CTO6E14SA7SC CT6E20-14SS CT6E22-10PS CT6E22-14PC



https://www.x-on.com.au/category/connectors/d-sub-connectors/d-sub-standard-connectors
https://www.x-on.com.au/manufacturer/connfly
https://www.x-on.com.au/mpn/apitechnologies/56f711015
https://www.x-on.com.au/mpn/itt/lv242999142t12
https://www.x-on.com.au/mpn/itt/0150339000
https://www.x-on.com.au/mpn/itt/0150341000
https://www.x-on.com.au/mpn/itt/0150349000
https://www.x-on.com.au/mpn/itt/0150350000
https://www.x-on.com.au/mpn/itt/0150372008
https://www.x-on.com.au/mpn/itt/0158544011
https://www.x-on.com.au/mpn/itt/0158755001
https://www.x-on.com.au/mpn/itt/0170410005
https://www.x-on.com.au/mpn/itt/0204190104
https://www.x-on.com.au/mpn/itt/0120467000
https://www.x-on.com.au/mpn/itt/0129507114
https://www.x-on.com.au/mpn/itt/0207450008
https://www.x-on.com.au/mpn/teconnectivity/60925p
https://www.x-on.com.au/mpn/teconnectivity/6099p
https://www.x-on.com.au/mpn/itt/m24308223z
https://www.x-on.com.au/mpn/itt/m24308236z
https://www.x-on.com.au/mpn/belfuse/m24308315f
https://www.x-on.com.au/mpn/itt/ct0m2223ss
https://www.x-on.com.au/mpn/itt/ct0p14s5sxs
https://www.x-on.com.au/mpn/itt/ct0p2214ps
https://www.x-on.com.au/mpn/itt/ct1e2019ss
https://www.x-on.com.au/mpn/itt/ct210sl3sc
https://www.x-on.com.au/mpn/itt/ct214s2pca34
https://www.x-on.com.au/mpn/itt/ct216s17ps
https://www.x-on.com.au/mpn/itt/ct21810psfmlbd
https://www.x-on.com.au/mpn/itt/ct21811pcau
https://www.x-on.com.au/mpn/itt/ct2181psaua34
https://www.x-on.com.au/mpn/itt/ct22219sc
https://www.x-on.com.au/mpn/itt/ct22219ssa206
https://www.x-on.com.au/mpn/itt/ct2242ps
https://www.x-on.com.au/mpn/itt/ct22812sc
https://www.x-on.com.au/mpn/itt/ct22812ssa232
https://www.x-on.com.au/mpn/itt/ct610sl3sc
https://www.x-on.com.au/mpn/itt/ct610sl4sc
https://www.x-on.com.au/mpn/itt/ct614s2sc
https://www.x-on.com.au/mpn/itt/ct61612sc
https://www.x-on.com.au/mpn/itt/ct61810psa206
https://www.x-on.com.au/mpn/itt/ct61810psa232
https://www.x-on.com.au/mpn/itt/ct61810ssf127a206
https://www.x-on.com.au/mpn/itt/ct62210ps
https://www.x-on.com.au/mpn/itt/ct62822ss
https://www.x-on.com.au/mpn/itt/ct6e14s2s0
https://www.x-on.com.au/mpn/itt/ct6e14s2sca206
https://www.x-on.com.au/mpn/itt/ct6e14s5sc
https://www.x-on.com.au/mpn/itt/ct6e14sa7sc
https://www.x-on.com.au/mpn/itt/ct6e2014ss
https://www.x-on.com.au/mpn/itt/ct6e2210ps
https://www.x-on.com.au/mpn/itt/ct6e2214pc

